R	CRA	POI	.ITIC/	ΔΙΙ	RF	CO	RD
D		FUL	. 1 1 1 1 1 1 1 1 1 1 1	\neg L		$\mathcal{L}\mathcal{U}$	שח

Date	07/28/22
------	----------

This Political Record is required by the Bipartisan Campaign Reform Act of 2002 (BCRA) to be completed every time a request is made to purchase broadcast time that (1) is made by or on behalf of a legally qualified candidate for public office, or (2) communicates a message relating to any political matter of national importance, including a legally qualified candidate, any election to federal office, or a national legislative issue of public importance. The Political Record is not required for requests to purchase internet advertising. Once completed, the Political Record must be placed in the station's online public inspection file and must be retained for two years.

This Record is for	□ a candidate request□ an election message request *□ an issue request *	The request is	□ pending ☑ accepted # □ rejected
Candidate Named i	n Message:	Sylvia Luke	
		Lieutenant Governo	(Hawaii)
Office Being Sough	t:		
Election or Issue Re	ferred to:	Primary: August 13, 20	022
Sponsor (or authori	ized candidate committee):	Friends of Sylvia Luke	
	ized candidate committee:	Leo Asuncion	
rreasurer or author	ized Candidate Committee:	Natalie Cook (Oloma	na Loomis)
Person Ordering Ac	lvertising:		iia Looiiiis)

* An "<u>election message request</u>" is a request made by anyone to broadcast a message that refers either to a legally qualified candidate or to any election to federal office.

An "<u>issue request</u>" is a message related to a national legislative issue of public importance or a political matter of national importance.

If the request is accepted, attach the sales order showing the rate charged, the date(s) and time(s) the message is aired, and the class of time purchased. For an <u>issue request</u>, also attach the name, address, and phone number of a contact person, and a list of the chief executive officers or mem bers of the executive committee or of the board of directors of the sponsor.

Broadcast Contract

OLOMANA LOOMIS ISC FRIENDS OF SYLVIA LUKE 900 FORT STREET MALL SUITE # 1548 HONOLULU, HI 96813

Start Date	Contract#	Mod#
08/01/22	38594	1
End Date 08/12/22	Date Entere 07/25/22	d Date Last Modified 08/03/22
Advertiser FRIENDS OF SY	LVIA LU	Station Market KQNG-FM,KSRF-FM
Product Kauai Radio- Aug	ust 2022	SalesRep/Office DENISE ROBERTS

Standard Billing Cycle Estimate#

KQNG-FM

		NQN	IG-FIVI							
LN	DATE	TIMES/PROGRAMS	LEN LINE RE	MO TU MARK	WE	TH I	FR S	SA S	SPOTS /WK	RATE
1	MO 08/01/22 WE 08/03/22	06:00A-10:00A	30	1 1	2	1	2		 7	\$45.00
2	MO 08/01/22 WE 08/03/22	10:00A-03:00P	30	1 1	1	1	1		 5	\$40.00
3	MO 08/01/22 WE 08/03/22	03:00P-07:00P	30	1 1	1	1	1		 5	\$45.00
5	TH 08/04/22 FR 08/05/22	06:00A-10:00A	60			1	1		 2	\$55.00
6	TH 08/04/22 FR 08/05/22	10:00A-03:00P	60			1	1		 2	\$50.00
7	TH 08/04/22 FR 08/05/22	03:00P-07:00P	60			1	1		 2	\$55.00
8	SA 08/06/22 SU 08/07/22	10:00A-03:00P	60					1	 1	\$35.00
9	MO 08/08/22 FR 08/12/22	06:00A-10:00A	60	1 1	1	1	1		 5	\$55.00
10	MO 08/08/22 FR 08/12/22	10:00A-03:00P	60	1	. 1		1		 3	\$50.00
11	MO 08/08/22 FR 08/12/22	03:00P-07:00P	60	1 1	1	1	1		 5	\$55.00
		KSR	RF-FM							
LN	DATE	TIMES/PROGRAMS	LEN LINE RE	MO TU EMARK	WE	TH	FR S	SA S	SPOTS /WK	RATE
1	MO 08/01/22 WE 08/03/22	06:00A-10:00A	30	1 1	1	1	1		 5	\$30.00
2	MO 08/01/22 WE 08/03/22	03:00P-07:00P	30	1	· 1		1		 3	\$25.00
4	TH 08/04/22 FR 08/05/22	06:00A-10:00A	60			1	1		 2	\$35.00
5	TH 08/04/22 FR 08/05/22	03:00P-07:00P	60				1		 1	\$30.00

Pacific Media Group and Radio Stations KQNG, KSRF, KSHK, KUAI does not discriminate in the sale of advertising time on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.

Accepted for Station		Accepted for advertiser OR agency(and	MBS, if any) as agent for the advertiser
Name	Title	Name	Title
Con reverse for accepted terms	and conditions if any		Dago 4

Broadcast Contract

OLOMANA LOOMIS ISC FRIENDS OF SYLVIA LUKE 900 FORT STREET MALL SUITE # 1548 HONOLULU, HI 96813

Accepted for Station

Name

Title

See reverse for accepted terms and conditions, if any

Start Date	Contract#	Mod#
08/01/22	38594	1
End Date	Date Entere	ed Date Last Modified
08/12/22	07/25/22	08/03/22
Advertiser		Station Market
FRIENDS OF SYL	VIA LU	KQNG-FM,KSRF-FM
Product Kauai Radio- Augus	st 2022	SalesRep/Office DENISE ROBERTS

Accepted for advertiser OR agency(and MBS, if any) as agent for the advertiser

Title

Page

5

HONOLULU, HI 96813			Nauaii	\auio-	Aug	ust Zt	<i>322</i>			DENISE RO	BERTS
				St	anda	ard B	illing	Cycle	Esti	mate#	
LN DATE	TIMES/PROGRAMS	LEN LINE	MO REMA		WE	TH	FR	SA S		POTS VK	RATE
6 MO 08/08/22 FR 08/12/22	06:00A-10:00A	60		1 1	1	1	1			5	\$35.00
7 MO 08/08/22 FR 08/12/22	03:00P-07:00P	60)	1	1		1			3	\$30.00
Tax Detail											
Hawaii State GET	\$ 79.90										
* Tax calculations are an estimate based on the or	der as contracted. Actual taxes d	due will ar	opear on th	ne invoid	e				Т	ax Total: 3	\$ 79.90
Additional Comments		Spots	a service of the second							Net	Gross
	46	1,99	5.00						\$	1,775.65	\$ 1,995.00
Aloha & Mahalo for your business! Billing Projections: By Month Aug 22 CA 1,995.00 ST 1,995.00											
Pacific Media Group and Radio Stations KQN evaluates, negotiates and completes its broad	G, KSRF, KSHK, KUAI does no cast advertising contracts with	ot discrin out rega	ninate in t d to race	he sale or ethni	of ad icity.	vertisi	ng tim	e on the	e basis	of race or eth	nicity and

Name

Date: 7/28/22

Sales Order

Stations:	KQNG-FM, KSRF-FM			Agency:	OLOMANA LOOM	IIS IS	2	
Contract Name:	SYLVIA LUKE AUG 20	022		Address:	900 FORT STREE	Т МА	LL	
Contract#:			(none)		SUITE # 1548			
Start Date:	8/01/22 End Da	te:	8/13/22	City:	HONOLULU	State:	HI Zip:	96813
Revenue Type:	POLITICAL - AGENCY	′Туре	: Cash	Phone:	(808) 469-3249			
Advertiser:	FRIENDS OF SYLVIA L	UKE		Buyer:				
Address:				Tax Schedule:			Hawaii S	State GET
City:	State:	Zip:		Agency Commis	sion %: 15			
Phone:	(808) 469-3246			Billing Cycle:	Standard			
Product Name:	Kauai Radio- August 2	022		Salesperson:	502978drob		Comm %:	15
Competitive Cor	te: Political/State			Makegood Polic	v MAKEGOOD \	NITHI	N CONTRAC	T DATES

KQNG-FM

No	DAT	TES	Alt	TIM	IES	LEN		2000000		DI	STRI	BUTI	ON			RATE	TO	OTALS	PTY
INO	START	END	wks	START	END	LEIN	М	T	W	T	F	SA	SU	Per Wk	D/W	IVAIL	SPOTS	\$\$	771
1	8/01/22	8/12/22		6:00 AM	10:00 AM	30	1	1	2	1	2			7	D	45.00	14	630.00	3
2	8/01/22	8/12/22		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	40.00	10	400.00	3
3	8/01/22	8/12/22		3:00 PM	7:00 PM	30	1	1	1	1	1			5	D	45.00	10	450.00	3
4	8/01/22	8/13/22		10:00 AM	3:00 PM	30						1		1	D	25.00	2	50.00	3

TOTAL GROSS \$1,530.00, NET \$1,300.50

KSRF-FM

N	DA	ΓES	Alt	TIM	MES	LEN				DI	STRI	BUT	ON			RATE	T	OTALS	PTY
No	START	END	wks	START	END	LEN	М	T	W	T	F	SA	SU	Per Wk	D/W	RAIL	SPOTS	\$\$	FII
1	8/01/22	8/12/22		6:00 AM	10:00 AM	30	1	1	1	1	1			5	D	30.00	10	300.00	3
2	8/01/22	8/12/22		3:00 PM	7:00 PM	30	1		1		1			3	D	25.00	6	150.00	3
3	8/01/22	8/13/22		10:00 AM	3:00 PM	30						1		1	D	10.00	2	20.00	3

TOTAL GROSS \$470.00, NET \$399.50

Billing Projections: By Month

Aug 22

CA 2,000.00

ST 2,000.00

Date:	7/28/22
Date.	1120122

Print Spot F	Prices	TOTAL SPO			54
Aloha & Ma	halo for your business!	GROSS TOT	AL\$		2,000.00
Notes to Traffic:	Paid in Advance by CC_DR_072622	ADJUSTED S			54
		ADJUSTED 1	TOTAL \$		2,000.00
		APPROVE	DECLINE		
			\bigcirc	General Manager	
			\bigcirc	502978drob, 07/26/22 @1:30PM	
			\bigcirc	Business Manager	
				Traffic Manager	

DATE	✓ NEV	V REVI	SED	BANK			39	350 VTRAC)4 ct#		KAC	<u> </u>	s s	HAKA
S	Sylvia Luke	for LG									K S	(1962) Exa		SMID.
	ADVERTIS					✓	CASH	2					F 10	2000
(Olomana L	oomis.					TRADE NTR				36		G II	JUNS
	BILLING AG					Ш	NIK				Le.	EM 9	3.5 [[3.1FM
Kaı	uai Radio (Campaig	n			7	KQNG	FM 93.	5		65	١.		
	TITLE / PRODUCT						SHAKA	103.1	FM		HITE		M K	4\
	Denise Ro	oberts				V	KSRF I	HI 95.9	FM		TODAY'S IS	LAND H	AIVI 57	104.5 FM S COUNTRY
	ACCOUNT EXE	CUTIVE					KUAI	FM 104	1.5 & AM	1 570			KAUAI	SCOUNTRI
Start Date	End Date	Day Part	Length	М	Tu	W	Th	F	Sa	Su	Per Wk	Total	\$ Per	Total \$
KONG FM 93.5		Bayrait	Longin		Tu			•	- Ou	Ou	1 OF VVII	rotar	Ψ101	Τοιαι φ
08/01/22	08/12/22	6a-10a	30	1	1	2	1	. 2			8	14	\$45.00	\$630.00
08/01/22	08/12/22	10a-3p	30	1	1	1	1	.1			5	10	\$40.00	\$400.00
08/01/22	08/12/22	3p-7p	30	1	1	1	1	1			5	10	\$45.00	\$450.00
08/01/22	08/13/22	10a-3p	30						1		1	2	\$25.00	\$50.00
KSRF FM (HI 9	05):													
08/01/22	08/12/22	6a-10a	30	1	1	1	1	1			5	10	\$30.00	\$300.00
08/01/22	08/12/22	3р-7р	30	1		1		1			3	6	\$25.00	\$150.00
08/01/22	08/13/22	10a-3p	30						1		1	2	\$10.00	\$20.00
(Net Due In Ad	lvance: \$2,670	.16)											GROSS	\$2,000.00
													Discount	-\$300.00
									(SUBT	OTAL	54		\$1,700.00
Total	l Weeks of Broadca	ıst 2	Totals									54		\$1,700.00
			-						Tax:	Hawa	ii GET @	4.7129	%	\$80.10

Accepted for KONG Radio Group

Accepted for Advertiser or Agency

Phone: (808)245-9527

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. S	See Invoice for actual schedule and charges.
, Natalie Cook	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE FEDER	RAL CANDIDATE OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCKS	S MUST BE COMPLETED
Candidate name:	
Sylvia Luke	
Authorized committee:	
Friends of Sylvia Luke	
Agency requesting time (and contact information):	
Olomana Loomis ISC, natalie@olomanaloomisisc.cor	m, 808-469-3250
Candidate's political party: Democratic	
Office sought (no acronyms or abbreviations): Lieutenant Governor	
Date of election: August 13, 2022	General Primary
Treasurer of candidate's authorized committee:	
Leo Asuncion	
The undersigned represents that: (1) the payment for the broadcast time requested has been furnithe the candidate listed above who is a legally qualified cardidate. This station has disclosed its political advertising policies, included the time as paid for both this station has disclosed its political advertising policies, included the time as paid for both this station has disclosed its political advertising policies, and other sales practices (not applicable to federal candidate.) THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATE.	ndidate, or date listed above; y such person or entity; and duding applicable classes and rates, discount, promotion tes).
IN THE PLACEMENT OF ADVERTISING.	•
Candidate/Committee/Agency	Station Representative
Signature: Natalie Cook	Signature) Name: Name: Name: Name:
Tyatalie Gook	V Vausci (ubo 15
Date of Request to Purchase Ad Time: 07/26/22	Date of Station Agreement to Sell Time: 7/24/27

Federal Candidate Certification:

The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.

the office being sought and that the carrai	aute has approved the broadcast.									
Candidate/Authorized Committee/Agency										
Signature:										
Name:										
Date:										
то	BE COMPLETED BY STATION ON	ILY								
Ad submitted to Station? Yes	No									
Date ad received:		×								
Federal candidate certification signed (ab	ove): Yes No	N/A								
Disposition: V Accepted Accepted IN PART (e.g., ad copy Rejected – provide reason: *Upload partially accepted form, then pro	not yet received to determine sponsor ID)									
Date and nature of follow-ups, if any (e.g.										
Contract #: 38594	Station Call Letters: KONG / KSRF	Date Received/Requested:								
Est. #:	Station Location: Linue, Hawan	Run Start and End Dates:								
use this space to document schedule of ti	iffic system print-out) or other documents me purchased, when spots actually aired, will not upload the actual times spots aired	the rates charged and the classes of time								

of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder in the OPIF.

Pacific Radio Group Payment Page http://www.pacificradiogroup.com

ijones@pmghawaii.com

View Company Terms

Receipt

Status Transaction Approved

Transaction # #

Timestamp 7/26/2022 4:06:22 PM

Total \$1780.10

Payment Type Sale

Pay On 7/26/2022

Payment Info Visa *2244

Copyright 2004-2022 PayTrace, Inc. All Rights Reserved.



Denise Roberts <denise@pmghawaii.com>

Re: SLFLG Aug PMG Kauai Buy - Change to :60

1 message

Denise Roberts <denise@kongradio.com>

Wed, Aug 3, 2022 at 11:18 AM

To: Jessica Miriga <jessicam@olomanaloomisisc.com>

Cc: Natalie Cook <natalie@olomanaloomisisc.com>, Karla Sison <karlas@olomanaloomisisc.com>, Kauai Traffic <traffic@kongradio.com>

Hi Jessica,

For 08/01-08/03/22 we have run commercials that total \$575.

If we switch up to :60's starting tomorrow, this is what it could look like (and then the total amount will be \$1,995).

Can you please let me know if you would like to move forward by Noon today?

KQNG-FM

	DAT	TES	Alt	TIM	ES				140	DI	STRI	вип	ON			RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	M	T	W	Т	F	SA	SU	Per Wk	D/W	IVALE	SPOTS	SS	i i i i i i
1	8.04/22	8/05/22	£ 3	6:00 AM	10:00 AM	60	2 1			1	1		12	2	D	55.00	2	110.00	3
2	8.04/22	8/05/22	100	10:00 AM	3.00 PM	60			1	1	1		8 3	2	D.	50.00	2.	100.00	3
3	8.04/22	8/05/22	8.3	3:00 PM	7:00 PM	60	8 0	1		1	1		6 5	2	D	55.00	2	110.00	3
4	8.08/22	8/07/22	1 1	10:00 AM	3.00 PM	60	8 8	-	-	2. 3		1	3 3	1	D	35.00	1	35.00	3
5	8/08/22	8/12/22	8 \$	6:00 AM	10:00 AM	60	1	1	11	1	1		8 8	5	D	55.00	5	275.00	3
8	8/08/22	8/12/22	4 3	10:00 AM	3.00 PM	60	1		1	8 1	1.		2 3	3	D	50.00	3	150.00	3
7	8/08/22	8/12/22	8 3	3:00 PM	7:00 PM	eo	1	1	1	1	1		7 7	5	D	55,00	5	275.00	3

TOTAL GROSS \$1,055.00, NET \$1,055.00

KSRF-FM

	DA	TES	Alt	TIN	ES	Wang	2			D	STRI	вип	CN			RATE	TO	TALS	PTY
P	START	END	wks	START	END	LEN	М	Т	W	т	F	SÀ	SU	Per Wk	D/W	RATE	SPOTS	SS	5.0
1	8/04/22	8/05/22	37.25	8:00 AM	10.00 AM	60	2 %	- 4	Ť	1	1		7 8	2	D	35,00	2	70.00	3
2	8.04/22	8/05/22	9 N	3:00 PM	7:00 PM	60	2 3	- 3	1	9. 1	1		9	1	D	30,00	1	30.00	3
3	8/08/22	8/12/22	0.3	6:00 AM	10:00 AM	60	1	1	1	1	1		. 1	5	D	36,00	5	175.00	3
4	8/08/22	8/12/22	2. 1	3:00 PM	7:00 PM	60	1	- 1	1	2. 8	1		9. 3.	3	D	30.00	3	90.00	3

TOTAL GROSS \$365.00, NET \$365.00

Billing Projections: By Month

Aug 22

CA 1,420.00

ST 1,420.00

Aloha,

Denise Roberts | Director of Sales

Kaua'i Radio - KQNG-FM, KSHK-FM, KSRF-FM, & KUAI AM/FM

Direct: 808-855-2552

Mobile: 808-635-5093

Office: 808-245-9527

denise@kongradio.com

Pacific Media Group | Kaua'i Office

4271 Halenani St

Lihue, HI 96766

"Hawaii owned. Locally operated. Committed"

Pacific Media Group is a Hawaii-based media company with offices in Honolulu, Kahului, Lihue, Hilo and Kona. PMG owns and operates 20 radio stations in the State of Hawaii.

On Wed, Aug 3, 2022 at 8:58 AM Jessica Miriga <jessicam@olomanaloomisisc.com> wrote:

We have a new radio spot we want to get on air <u>ASAP</u> but it is a :60, not a :30. Could you let us know how many spots we would be able to get with our current buy we have in place if we run a :60 instead? We cannot go over the \$2,000 we had budgeted, and need to factor in the spots/amount that have already run.

Please advise asap, mahalo!

Jessica Miriga
Marketing Manager
Olomana Loomis ISC – 25 Years in the Making
900 Fort Street Mall, Suite 1548 • Honolulu, HI 96813
808.469.3246
olomanaloomisisc.com





Sales Order

Stations: KQNG-FM, KSRF-FM	Agency: OLOMANA LOOMIS ISC
Contract Name: SYLVIA LUKE AUG 2022-01	Address: 900 FORT STREET MALL
Contract#: 38594	SUITE # 1548
Start Date: 8/01/22 End Date: 8/12/22	City: HONOLULU State: HI Zip: 96813
Revenue Type: POLITICAL - AGENCY Type: Cash	Phone: (808) 469-3249
Advertiser: FRIENDS OF SYLVIA LUKE	Buyer:
Address:	Tax Schedule: Hawaii State GET
Address: City: State: Zip:	
City: State: Zip:	Agency Commission %: 15
City: State: Zip: Phone: (808) 469-3246	Agency Commission %: 15 Billing Cycle: Standard

KQNG-FM

	DAT	ΓES	Alt	TIM	IES	LEN	DISTRIBUTION									RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	
1	8/01/22	8/03/22		6:00 AM	10:00 AM	30	1	1	2	1	2			7	D	45.00	4	180.00	3
2	8/01/22	8/03/22		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	40.00	3	120.00	3
3	8/01/22	8/03/22		3:00 PM	7:00 PM	30	1	1	1	1	1			5	D	45.00	3	135.00	3
4	8/01/22	8/13/22		10:00 AM	3:00 PM	30						1		1	D	25.00	0	0.00	3
	=== CANC	ELED ===				·			07										
5	8/04/22	8/05/22		6:00 AM	10:00 AM	60				1	1			2	D	55.00	2	110.00	3
6	8/04/22	8/05/22		10:00 AM	3:00 PM	60				1	1			2	D	50.00	2	100.00	3
7	8/04/22	8/05/22		3:00 PM	7:00 PM	60				1	1			2	D	55.00	2	110.00	3
8	8/06/22	8/07/22		10:00 AM	3:00 PM	60						1		1	D	35.00	1	35.00	3
9	8/08/22	8/12/22		6:00 AM	10:00 AM	60	1	1	1	1	1			5	D	55.00	5	275.00	3
10	8/08/22	8/12/22		10:00 AM	3:00 PM	60	1		1		1			3	D	50.00	3	150.00	3
11	8/08/22	8/12/22		3:00 PM	7:00 PM	60	1	1	1	1	1			5	D	55.00	5	275.00	3

TOTAL GROSS \$1,490.00, NET \$1,266.50

KSRF-FM

	DAT	TES	Alt	TIM	IES	LEN				DI	STRI	BUTI	ON			RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	T	F	SA	SU	Per Wk	D/W	IVAIL	SPOTS	\$\$	
1	8/01/22	8/03/22		6:00 AM	10:00 AM	30	1	1	1	1	1			5	D	30.00	3	90.00	3
2	8/01/22	8/03/22		3:00 PM	7:00 PM	30	1		1		1			3	D	25.00	2	50.00	3
3	8/01/22	8/13/22		10:00 AM	3:00 PM	30						1		1	D	10.00	0	0.00	3
	=== CANCI	ELED ===																	
4	8/04/22	8/05/22		6:00 AM	10:00 AM	60				1	1			2	D	35.00	2	70.00	3
5	8/04/22	8/05/22		3:00 PM	7:00 PM	60					1			1	D	30.00	1	30.00	3
6	8/08/22	8/12/22		6:00 AM	10:00 AM	60	1	1	1	1	1			5	D	35.00	5	175.00	3
7	8/08/22	8/12/22		3:00 PM	7:00 PM	60	1		1		1			3	D	30.00	3	90.00	3

TOTAL GROSS \$505.00, NET \$429.25

		Aug 22						
	CA	1,995.00						
	ST	1,995.00						
Print Spot	Prices				TOTAL SPOT	s		46
Aloha & M	ahalo fo	or your b	usiness!		 GROSS TOTA	AL\$		1,995.00
Notes to Traffic:	Paid	d in Adva	nce by CC_D	R_072622	 ADJUSTED S	POTS		46
					 ADJUSTED T	OTAL\$		1,995.00
Revised to	:60's p	er client	request_DR_	080322				
					 APPROVE	DECLINE		
					 \bigcirc	\bigcirc	General Manager	
					 \bigcirc	\bigcirc	502978drob, 07/26/22 @1:30PM	
					 \bigcirc	\bigcirc	Business Manager	
				9	\bigcirc		Traffic Manager	

Billing Projections: By Month

INVOICE



Invoice #: Invoice Date: MC-1220835912

Contract #:

08/14/2022 38594

Page:

Net Amount Due: \$1,775.65

Agency:

OLOMANA LOOMIS ISC 900 FORT STREET MALL

SUITE # 1548

HONOLULU, HI 96813

Station(s):

KQNG-FM KSRF-FM

Advertiser:

FRIENDS OF SYLVIA LUKE

Product:

Kauai Radio- August 2022

Estimate #:

Agency Client Code:

Buyer Name:

Salesperson(s):

DENISE ROBERTS

Terms: Net 30

Day	Date	Time	Ln	Length	Product ISCI	Rate
KQNG	i-FM		·			
MON	08/01/22	06:44a	1	30	SylviaLuke_StarAdvertiserEndor	\$45.00
MON	08/01/22	02:57p	2	30	SylviaLuke_StarAdvertiserEndor	\$40.00
MON	08/01/22	04:46p	3	30	SylviaLuke_StarAdvertiserEndor	\$45.00
TUE	08/02/22	09:46a	1	30	SylviaLuke_StarAdvertiserEndor	\$45.00
TUE	08/02/22	01:45p	2	30	SylviaLuke_StarAdvertiserEndor	\$40.00
TUE	08/02/22	06:31p	3	30	SylviaLuke_StarAdvertiserEndor	\$45.00
WED	08/03/22	07:03a	1	30	SylviaLuke_StarAdvertiserEndor	\$45.00
WED	08/03/22	08:46a	1	30	SylviaLuke_StarAdvertiserEndor	\$45.00
WED	08/03/22	12:54p	2	30	SylviaLuke_StarAdvertiserEndor	\$40.00
WED	08/03/22	03:36p	3	30	SylviaLuke_StarAdvertiserEndor	\$45.00
THU	08/04/22	11:08a	6	60	Response to Carpenters	\$50.00
THU	08/04/22	06:04p	7	60	Response to Carpenters	\$55.00
FRI	08/05/22	09:55a	5	60	Response to Carpenters	\$55.00
FRI	08/05/22	10:00a	5	60	Response to Carpenters	\$55.00
FRI	08/05/22	01:44p	6	60	Response to Carpenters	\$50.00
FRI	08/05/22	03:10p	7	60	Response to Carpenters	\$55.00
SAT	08/06/22	10:39a	8	60	Response to Carpenters	\$35.00
MON	08/08/22	09:29a	9	60	Response to Carpenters	\$55.00
MON	08/08/22	02:30p	10	60	Response to Carpenters	\$50.00
MON	08/08/22	05:45p	11	60	Response to Carpenters	\$55.00
TUE	08/09/22	07:05a	9	60	Response to Carpenters	\$55.00
TUE	08/09/22	06:44p	11	60	Response to Carpenters	\$55.00
WED	08/10/22	07:27a	9	60	Response to Carpenters	\$55.00
WED	08/10/22	12:33p	10	60	Response to Carpenters	\$50.00
WED	08/10/22	03:44p	11	60	Response to Carpenters	\$55.00
THU	08/11/22	08:42a	9	60	Response to Carpenters	\$55.00
THU	08/11/22	04:11p	11	60	Response to Carpenters	\$55.00
FRI	08/12/22	09:14a	9	60	Response to Carpenters	\$55.00
FRI	08/12/22	11:03a	10	60	Response to Carpenters	\$50.00
FRI	08/12/22	05:36p	11	60	Response to Carpenters	\$55.00

KSRF-FM

INVOICE



Invoice #: Invoice Date: MC-1220835912

Contract #: Page:

08/14/2022 38594 2

Net Amount Due:

\$1,775.65

Day	Date	Time	Ln	Length	Product ISCI	Rate
MON	08/01/22	09:55a	1	30	SylviaLuke_StarAdvertiserEndor	\$30.00
MON	08/01/22	05:54p	2	30	SylviaLuke_StarAdvertiserEndor	\$25.00
TUE	08/02/22	07:59a	1	30	SylviaLuke_StarAdvertiserEndor	\$30.00
WED	08/03/22	06:49a	1	30	SylviaLuke_StarAdvertiserEndor	\$30.00
WED	08/03/22	03:54p	2	30	SylviaLuke_StarAdvertiserEndor	\$25.00
THU	08/04/22	07:41a	4	60	Response to Carpenters	\$35.00
FRI	08/05/22	06:51a	4	60	Response to Carpenters	\$35.00
FRI	08/05/22	06:56p	5	60	Response to Carpenters	\$30.00
MON	08/08/22	08:49a	6	60	Response to Carpenters	\$35.00
MON	08/08/22	05:20p	7	60	Response to Carpenters	\$30.00
TUE	08/09/22	06:52a	6	60	Response to Carpenters	\$35.00
WED	08/10/22	09:21a	6	60	Response to Carpenters	\$35.00
WED	08/10/22	03:55p	7	60	Response to Carpenters	\$30.00
THU	08/11/22	07:39a	6	60	Response to Carpenters	\$35.00
FRI	08/12/22	07:18a	6	60	Response to Carpenters	\$35.00
FRI	08/12/22	06:18p	7	60	Response to Carpenters	\$30.00

Aloha & Mahalo for your business!

KQNG-FM

Total Spots:

KSRF-FM 30 Total Spots:

16

Gross Amount:

\$1,490.00

Gross Amount: Agency Commission:

\$505.00 (\$75.75)

Agency Commission: Taxes:

(\$223.50)

Taxes:

\$20.22

Hawaii State GET Net Amount:

\$59.68 \$1,326.18

Hawaii State GET Net Amount:

\$449.47

Remit To:

PACIFIC MEDIA GROUP

ATTN: TRANSACTION PROCESSING

PO BOX 1120

HONOLULU, HI 96807-1120

Invoice Totals

Total Spots: Gross Amount:

46 \$1,995.00 (\$299.25)

Agency Commission: Taxes:

Hawaii State GET Net Amount Due:

\$79.90 \$1,775.65

INVOICE



Invoice #:

MC-1220835912

Invoice Date: Contract #:

08/14/2022 38594

Page: Net Amount Due: \$1,775.65

3

I affirm that the announcements were broadcast as indicated above.

Pacific Media Group and Radio Stations KQNG, KSRF, KSHK, KUAI does not discriminate in the sale of advertising time on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.